
1
42

41

4036
38

35
36

39

37
37 3934

20

11

19

31

13

32

16

33

45

1
44

43
363736

35

25
24

9

10
11

5

26

27

28

29
13

9

10

11

1

2

3

4

5

6

7

8 12
11
11
21

18

20

11

11

21

22

24

49

17

16

15

14

30

35
36

36
47

46

12
11

11
21

48



序号 存货编码（子件） 规格型号（子件 存货名称（子件） 用量 重量 规格 
1 11011700014  锁销组合件11*45 7 0.05
2 11000100402 FM180.105  调整垫圈 6 4 0.03

3 11000100400 FM180.105 调整垫圈 12 4 0.07

4 11010300017 FM180.113 弹簧 4 0.009
5 11000200973 FM180.016 滚轮架焊合件 2 7.59
6 14000200001  油嘴M8X1 4 0.004
7 11000100401 FM180.105 调整垫圈 32 4 0.18
8 FM180.125  橡胶轮组件 4 4.14
9 14010100051 GB/T 5783-2000 六角头螺栓M10*90 6 0.067 M10×90
10 14020000007 GB/T 93-1987 弹垫10 6 0.002 10×2.6
11 14040000003 GB/T 95-2002 平垫圈 10*2 44 0.003 10×2
12 14010100039 GB/T 5783-2000 六角头螺栓M10*25 5 0.026 M10×25
13 11011800015 FM180.111 橡胶罩 3 8.47
14 GB/T 808-1988 小六角特扁细牙螺母 3 M24×1.5
15 14020000014 GB/T 93-1987 弹垫24 3 24×6
16 11000200970 FM180.013 小皮带轮焊合件 2 0.75
17 14030000006 GB/T 1096-1979 普通平键8*25 3 8×25
18 FM120.012 刀轴总成 3 2.73
19 齿轮箱装配 1
20 14010100040 GB/T 5783-2000 六角头螺栓M10*30 16 0.030 M10×30
21 14050100003 GB/T 889.1-2000 防松螺母M10 17 0.009  
22 11010200025 FM120.101 刀片 3 0.90
23 FM120.011 机罩焊合件 1 46.09
24 14040000014 GB/T 95-2002 平垫圈 18×3 5 18×3
25 14050100014 GB/T 889.1-2000 防松螺母M18 2 M18
26 14010100016 GB/T 5783-2000 六角头螺栓M8*16 4 0.012 M8×16
27 14040000002 GB/T 95-2002 平垫圈 8×1.6 4 0.002 8×1.6
28 11000000444 FM120.103 左皮带轮罩 1 2.581
29 14020000006 GB/T 93-1987 弹垫8 4 0.001 8×2.1
30 11000200982 FM180.014 小皮带轮焊合件-双槽 1 1.33
31 11011800082 FM180.104 橡胶垫片 2 28.07
32 11011300011 GB/T11544-97 皮带 B61 2 0.29
33 14010100127 GB/T 5781-2000 六角头螺栓(M18)×60 2 (M18)×60
34 11000000443 FM120.102 左皮带罩 1 2.581
35 14050100007 GB/T 889.1-2000 防松螺母M14 7 0.020  
36 14040000005 GB/T 95-2002 平垫圈 14×2.5 14 0.008 14×2.5
37 11000000445 FM120.107 后拉杆 2 2.025
38 11000100405 FM180.109 悬挂隔套 1
39 11000000338 FM180.106 前拉杆 2 2.54
40 14010100082 GB/T 5780-2000 六角头螺栓M14*100 1 (M14)×100
41 11000000339 FM180.110 上提升架 1 1.34
42 11011700003 EF175.119 上悬挂销 1
43 14010100090 GB/T 5783-2000 六角头螺栓M14*40 4 0.075 (M14)×40
44 11000100320 LG180.105 下悬挂销 2 0.511
45 11000200983 FM150.019 下提升架焊合件 2 1.77
46 11000000451 FM120.112 出草口 1 4.742
47 14010100093 GB/T 5783-2000 六角头螺栓M14*50 2 0.087 (M14)×50
48 14000200000  油嘴M6 3 0.003
49 GB/T 889.2-2000 六角锁紧螺母M18细牙 3 M18


	图纸1
	工程图视图1

	图纸2

